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i10 = 6.784(Tc) 
–0.5612

 

 

i25 = 7.398(Tc) 
–0.5438

 

 

i50 = 8.3655(Tc) 
–0.5489

 

 

i100 = 9.3498(Tc) 
-0.5580 

 



 

i10 = 7.1817(Tc) 
–0.5096

 

 

i25 = 7.9979(Tc) 
–0.4996

 

 

i50 = 9.1700(Tc) 
–0.5102

 

 

i100 = 10.2850(Tc) 
–0.5212

 



  

  i10 = 3.9186(Tc) 
–0.3457

 

 

  i25 = 4.5249(Tc) 
–0.3390

 

 

  i50 = 5.0590(Tc) 
–0.3392

 

 

  i100 = 5.5480(Tc) 
–0.3385

 



 

i10 = 8.1564(Tc) 
–0.5159

 

 

i25 = 9.5795(Tc) 
–0.5141

 

 

i50 = 10.4110(Tc) 
–0.5104

 

 

i100 = 11.7210(Tc) 
–0.5201

 



 

i10 = 6.1567(Tc) 
–0.5127

 

 

i25 = 7.1242(Tc) 
–0.5069

 

 

i50 = 8.1358(Tc) 
–0.5163

 

 

i100 = 8.8428(Tc) 
–0.5166

 



 

i10 = 4.6355(Tc) 
–0.4292

 

 

i25 = 5.6219(Tc) 
–0.4297

 

 

i50 = 5.9582(Tc) 
–0.4213

 

 

i100 = 6.7496(Tc) 
–0.4313
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